NAME-

CLASS-VI
MATHEMATICS

TOPIC- INTEGERS

Q1) The smallest positive integer is

A) 0
B) 5
C) 3
D) 1

Q2) 17+ =0

A) 1
B) 0
c) 17
D) -17

Q3) The predecessor of -99 is

A) -100
B) 100
C) 98

D) -98

Q4) The sum of two negative integers is always a

A) Positive

B) Negative

o

D) Both positive and negative

Q5) The largest negative integer is

A) -2
B) -1
Q) 1
D) 0

Q6) The integer which is 5 more than -2
A) -7
B) -3

C) 3
D) 7

ROLL NUMBER-

integer.
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Q7) The number of integers between -1 and 1

A) 0
B) 1
c) 2
D) 3

Q8) If the sum of two integer is -17 and one of them is -9, then the other is

A) 8
B) -8
C) 26
D) -26

Q9) On subtracting -7 from -4, we get
A) 3
B) -3
¢} 11
D) 11
Q10) (-12) +17 - (-10) =
A) -5
B) 5

C) 15
D) -15
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